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CHAPTER OUTLINE:   
I. Income Statement

A. Revenues

1. Revenue recognition

a. Realized or realizable

b. Earned

2. Revenue from sales

a. Sales returns and allowances

b. Net sales

3. Revenue from services

4. Unusual revenue recognition methods

a. Percentage of completion

B. Expenses

1. Expense recognition

a. Matching principle, objectivity, and conservatism applied

2. Cost of goods sold

a. Under perpetual inventory system

b. Under periodic inventory system

c. Purchases returns and allowances

C. Gross Profit or Gross Margin

1. Expressed as dollar amount and percentage of net sales

2. Effect of sales mix

3. Use of gross profit ratio to estimate ending inventory and cost of goods sold

4. Use of target gross profit ratio to set selling price

D. Operating Expenses

E. Income from Operations

F. Other Income and Expense

1. Interest income and interest expense

2. Other gains and losses

G. Income Before Income Taxes and Income Tax Expense

H. Net Income and Earnings Per Share

1. Weighted-average shares outstanding

2. Net income available for common stock

3. Basic versus diluted earnings per share

I. Summary of Income Statement Presentation Alternatives

1. Single‑step format

2. Multiple‑step format

J. Unusual Items Sometimes Seen on the Income Statement

1. Discontinued operations

      a. Reported net of income tax effect

2. Extraordinary items

a. Reported net of income tax effect

            3. Net income attributable to noncontrolling (minority) interests

II. Statement of Cash Flows

A. Content and Format of the Statement

1. Cash providing/using activities

a. Operations

b. Investing

c. Financing

2. Net income—the beginning point for cash generated from operations, but adjustments are required for non‑cash elements of net income

a. Depreciation and amortization expense

b. Income tax expense not currently payable

c. Gains or losses on sales of noncurrent assets
3. Changes in other current assets and current liabilities affect cash generated from operating activities

4. Summary of investing activities

5. Summary of financing activities

6. Statement illustrated

a. Direct method

b. Indirect method

B. Interpreting the Statement of Cash Flows

1. Look at category totals before looking at details

2. Operating activities—should generate cash

3. Investing activities

4. Financing activities

a. Debt transactions—borrowings and repayments

b. Capital stock transactions—sale of stock and purchase of treasury stock

c. Dividends payments
TRUE/FALSE:

____   1. The Statement of Cash Flows describes the sources and uses of an entity's cash for a 




period of time by identifying increases and decreases to cash caused by operating, 




investing, and financing activities.

____   2. The Balance Sheet differs in focus from the Income Statement and the Statement of Cash 




Flows because it reports financial information as of a point in time, rather than for a period 




of time.

____   3. The realization criterion holds that revenues from the sale of goods on account should not 




be recognized until cash is collected from the customer.

____   4. The earned criterion in revenue recognition would require landlords to treat damage 




deposits received from tenants as liabilities (rather than revenues), unless and until repairs 




are made to property damaged by the tenant.         

____   5. Sales Returns & Allowances is a contra revenue account, rather than an expense.

____   6. Revenues are generally recorded for the amounts expected to be received from the 




transaction, but amounts not due within one year are ignored.

____   7. When goods are shipped FOB Destination, the buyer incurs the transportation costs and 




assumes the risk of loss while the goods are in transit, since title passes to the buyer when 




the goods are shipped.

____   8. In computing the weighted-average number of shares outstanding, treasury shares held by 




the corporation should be treated as reductions in the number of shares outstanding for the 




duration of the period in which they were held.

____   9. The percentage-of-completion method of revenue recognition would allow, for example, 




automobile manufacturers to recognize revenues from future sales on a percentage basis as 




their products move through various stages of assembly.

____ 10. The matching principle requires the recording of revenues in the period in which they are 




earned, and the recording of expenses in the period in which they are incurred.

____ 11. Advertising costs are treated as expenses (rather than prepaid assets) in the year in which 




the advertisements appear, since it would be too difficult to properly match the benefits 




associated with advertising costs (i.e. increased sales) to the periods in which the benefits 




were ultimately received.

____ 12. Inventory shrinkage losses are treated as extraordinary items to highlight the significance 




of management's inability to control employee theft.

____ 13. The perpetual inventory system allows the Cost of Goods Sold account to be updated each 




day as sales are made.

____ 14. Assuming that all other amounts are known, the Cost of Goods Available for Sale could be 




computed either by adding Purchases to Beginning Inventory, or by adding Cost of Goods 




Sold to Ending Inventory.

____ 15. The Statement of Cash Flows and the Statement of Working Capital are two currently




acceptable alternatives to presenting information concerning cash receipts and cash 




disbursements for publicly traded firms.

____ 16. Where percentage mark-ups vary according to the class of merchandise sold by the firm 




(e.g. DVDs versus BluRays), an understanding of sales mix may be helpful in estimating 
               gross profit ratios.

____ 17. In order to establish a sales price to achieve a desired gross profit ratio, simply divide the 




cost of the product by the cost of goods sold ratio.

____ 18. A firm with a 20% gross profit ratio might be more profitable than another firm with a 




50% gross profit ratio, depending upon relative sales volumes, operating expenses, and 




other financial characteristics.

____ 19. Income from Operations is the difference between net sales and selling, general, and 




administrative expenses.

____ 20. Interest expense and interest income are usually netted together and reported as one item




on the income statement under the "Other Income and Expenses" caption.

____ 21. The weighted-average number of shares is normally reported in the disclosures related to




the Common Stock account as the number of shares outstanding.

____ 22. Items shipped FOB Shipping Point are ordinarily Freight Collect because the buyer agrees 




to pay the shipping costs.

____ 23. The numerator in the Basic Earnings Per Share calculation should be reduced for preferred 




dividends that must be paid before common stockholders are entitled to receive dividends.

____ 24. Earnings Per Share dilution occurs if the possible conversion of preferred stock (or bonds) 




into common stock might result in a decrease of the EPS figure.

____ 25. Because they are not expected to occur again in the future, Discontinued Operations and 




Extraordinary Items are reported separately on the income statement so that financial 




statement users can better understand the results from continuing operations.

____ 26. Although single-step and multiple-step income statements differ in format and in the 




amount of detail shown, both are acceptable methods of reporting, according to generally 




accepted accounting principles (GAAP).

____ 27. The gross profit ratio is computed as: Net Sales - Cost of Goods Sold.

____ 28. Under the indirect method of the Statement of Cash Flows, depreciation expense is added 




back to net income in order to arrive at cash provided by operating activities.

____ 29. The choice between the direct and indirect method of preparing the Statement of Cash 




Flows does not impact the way in which the investing and financing sections are prepared.

EXERCISES:
	1.
	Igloo Co. reported the accounts and amounts shown below on December 31, 2014:  

Merchandise Inventory 






        $140,000

Sales Revenue 







            99,000

Salary Expense 







            12,400

Treasury Stock  







              4,100

Retained Earnings 







            31,500

Accumulated Depreciation 






            23,400

Cash 









            35,000

Common Stock 







          200,000

Advertising Expense 







            10,000

Dividends Payable 







            13,000

Extraordinary Loss due to Flood Damages, net of taxes 


              5,800

Additional Paid-in Capital 






             50,000

Cost of Goods Sold 







             20,000

Provision for Income Taxes  






             23,700

Property, Plant, and Equipment





           125,000

Notes Payable 








             30,000

Interest Expense  







               6,200

Prepare a multiple-step income statement in good form.  (An answer sheet is provided on the            next page.)

	
	


	1.
	(continued)

	
	                                                            IGLOO CO.

                                                       Income Statement
                                       For the Year Ended December 31, 2014                                         

	
	__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________




	2.
	Supply the missing dollar amounts for the multiple-step income statements shown in each 

of the following independent cases.  Assume that the weighted-average number of shares outstanding is 5,000 in each case.

	
	

	
	                                                                                              Bacon        Lettuce      Tomato
Net Sales





         $95,000      $88,400       $   A

Cost of Goods Sold




              A             41,700        38,600
Gross Profit





         $43,800      $    A           $   B

Selling, General, and Administrative Expenses
              B                 B             22,000
Income From Operations



         $   C           $ 32,300      $29,300

Other Income (Expense):

    Interest Expense




           (3,000)        (4,200)          C

    Other Income (net)




            6,900            C               4,400

    Noncontrolling Interest 



         (10,600)      (10,200)        (6,100)
Income from Continuing Operations Before Taxes
         $22,400       $   D           $21,800

Provision for Income Taxes



              D               5,300            D     .           Income From Continuing Operations


         $   E            $14,100      $18,500

Discontinued Operations, net of taxes:

    Loss from Operations



            6,500             E                 E

Loss on Disposal




               F                 F                 F     .              

Loss From Discontinued Operations

         $12,100       $   G           $  5,000

Earnings Before Extraordinary Item


         $  4,200       $   H           $   G

Extraordinary Gain (Loss), net of taxes
………              G               7,300            H     .
Net Income (Loss)




         $  9,800       $    I           $ (1,200)

Earnings Per Share of Common Stock Outstanding:

Continuing Operations



         $   3.50        $    J           $    I

Discontinued Operations:

    Loss from Operations



              H               (0.40)        (0.30)

    Loss on Disposal




               I               (1.10)            J

Extraordinary Gain (Loss)



               J                 K                K    .  
Net Income





         $    K          $    L           $    L    . 

	
	


SOLUTIONS:

	True/False

	
	
	
	
	
	
	
	
	

	1.
	
	T
	11.
	
	T
	21.
	
	F

	  2.
	
	T
	12.
	
	F
	22.
	
	T

	3.
	
	F
	13.
	
	T
	23.
	
	T

	4.
	
	T
	14.
	
	T
	24.
	
	T

	5.
	
	T
	15.
	
	F
	25.
	
	T

	6.
	
	F
	16.
	
	T
	26.
	
	T

	7.
	
	F
	17.
	
	T
	27.
	
	F

	8.
	
	T
	18.
	
	T
	28.
	
	T

	9.
	
	F
	19.
	
	F
	29.
	
	T

	10.
	
	T
	20.
	
	F
	
	
	


Exercises

	1.
	Sales Revenue







  $ 99,000

Less: Cost of Goods Sold





   (20,000)
Gross Profit 







                   $ 79,000

Selling, General, and Administrative Expenses:

    Salary Expense






     12,400

    Advertising Expense





     10,000
Total Selling, General, and Administrative Expenses

                    (22,400)
Income From Operations Before Income Taxes


                   $ 56,600

Provision for Income Taxes





                      23,700
Income From Operations





                   $ 32,900

Interest Expense






                      (6,200)
Earnings Before Extraordinary Item




                   $ 26,700

Extraordinary Item:    

    Loss due to Flood Damages, net of taxes



                      (5,800)
Net Income







                   $ 20,900

	
	


	2.
	[See calculations below.]                                        Bacon          Lettuce         Tomato
Net Sales




         $95,000        $88,400    A=$89,900
Cost of Goods Sold



    A=  51,200          41,700           38,600
Gross Profit




         $43,800    A=$46,700    B=$51,300
Selling, General, and Admin. Expenses
    B=  14,700    B=  14,400           22,000
Income From Operations


    C=$29,100        $ 32,300         $29,300

Other Income (Expense):

    Interest Expense



            (3,000)          (4,200)   C= (5,800)
    Other Income (net)



             6,900    C=    1,500            4,400

    Losses on equity securities, net 

         (10,600)        (10,200)          (6,100)
Income from Continuing Operations 

Before Taxes




         $22,400    D=$19,400        $21,800

Provision for Income Taxes


     D=    4,900             5,300    D=   3,300              Income From Continuing Operations

     E=$17,500         $14,100        $18,500

Discontinued Operations, net of taxes:

    Loss from Operations


             6,500    E=     2,000    E=   2,000
    Loss on Disposal



     F=    6,800    F=     5,500    F=    3,500                  Loss From Discontinued Operations

         $12,100    G=$   7,500        $  5,000

Earnings Before Extraordinary Item

         $  4,200    H=$   6,600   G=$13,500
Extraordinary Gain (Loss), net of taxes…...      G=    5,600              7,300    H=(14,700)
Net Income (Loss)



         $  9,800    I=  $13,900        $ (1,200)

Earnings Per Share of Common Stock Outstanding:

Continuing Operations


         $    3.50    J= $    2.82    I= $    3.70
Discontinued Operations:

    Loss from Operations


    H=    (1.30)             (0.40)            (0.30)

    Loss on Disposal



     I=    (1.36)             (1.10)   J=     (0.70)
Extraordinary Gain (Loss)


    J=      1.12     K=     1.46     K=    (2.94) 
Net Income




   K=  $  1.96     L=  $ 2.78     L= $ (0.24)                                                                                                 


	
	

	
	


	2.
	(continued)

	
	The suggested approach to solving each of these problems is indicated by the alphabetical          ordering of the computations shown.
Bacon:
A=  $95,000 - $43,800 = $51,200

C=  $22,400 + $3,000 + $10,600 - $6,900 = $29,100

B=  $43,800 - $29,100 = $14,700

E=  $3.50 * 5000 shares = $17,500, or $13,300 + $4,200 = $17,500

D=  $22,400 - $17,500 = $4,900

F=  $13,300 - $6,500 = $6,800

G=  $9,800 - $4,200 = $5,600

H=  $6,500 / 5,000 shares = $(1.30)

I=  $6,800 / 5,000 shares = $(1.36)

J=  $5,600 / 5,000 shares = $1.12

K=  $9,800 / 5,000 shares = $1.96, or $3.50 - $1.30 - $1.36 + $1.12 = $1.96

Lettuce:
A=  $88,400 - $41,700 = $46,700

B=  $46,700 - $32,300 = $14,400

D=  $14,100 + $5,300 = $19,400

C=  $32,300 - $4,200 - $10,200 - $19,400 = $1,500

E=  $0.40 * 5,000 shares = $2,000

F=  $1.10 * 5,000 shares = $5,500

G=  $2,000 + $5,500 = $7,500

H=  $14,100 - $7,500 = $6,600

I=  $6,600 + $7,300 = $13,900

J=  $14,100 / 5,000 shares = $2.82

K=  $7,300 / 5,000 shares = $1.46

L=  $13,900 / 5,000 shares = $2.78, or $2.82 - $0.40 - $1.10 + $1.46 = $2.78

Tomato:
B=  $29,300 + $22,000 = $51,300

A=  $51,300 + $38,600 = $89,900

C=  $29,300 + $4,400 - $6,100 - $21,800 = $5,800

D=  $21,800 - $18,500 = $3,300

E=  $0.30 * 5,000 shares = $1,500

F=  $5,000 - $1,500 = $3,500

G=  $18,500 - $5,000 = $13,500

H=  $13,500 + $1,200 = $(14,700)

I=  $18,500 / 5,000 shares = $3.70

J=  $3,500 / 5,000 shares = $(0.70)

K=  $(14,700) / 5,000 shares = $(2.94)

L=  $(1,200) / 5,000 shares = $(0.24)
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